Name:___________________________________________

Period: __________
Weekly Spiral Questions - Quarter 4 Week 3
Show ALL work in the boxes and then put final answers in the answer box. Remember to label!
Calculator ACTIVE
	1)Which expression is equivalent to:

               2(x – 3) + 4x + 3

A 6x

B 6x – 3

C 3x

D -2x + 3
	2) Brad has a summer job to pick berries on a farm.

• He earns $2.00 every 15 minutes that he picks strawberries.

• He earns $2.40 for every 15 minutes that he picks blueberries.

• He picked strawberries for an hour and blueberries for 45 minutes.

How much money did Evan earn?

A $4.40

B $8.80

C $15.20

D $26.40
	Answers

1. _______

2. _______


	3) Crayton built a scale model of a statue. She built the model 7 inches tall to represent the actual height of 15 feet. Which equation below represents the relationship between the actual height (a), in feet, and the height of the model (m), in inches?
A a = 7/15 m
B m = 7/15 a
C a = 0.75m

D m = 0.75a
	4) What is the solution to the inequality:

                      −3x − 42 > 3?

A x > −13

B x < −13

C x > −15

D x < −15


	Answers

3.  _______
4.  _______

	5) Which set of numbers is included in the solution set of 4 – 3x < -2
 A {2.5, 8, 15}

 B {- 8, 0, 1.5} 

 C {- 15, -8, 0} 

 D {0, 2.5, 8}
	6) One lap around a track is equal to one-eighth of a mile. A horse ran a distance of 9 laps in 2 minutes and 30 seconds. What was the horse’s average speed in miles per minute?
	Answers
5. _______

6. _______



	7) A notebook costs $4.50 plus sales tax. After sales tax, the notebook is $4.86.  What is the sales tax rate?

A 6%

B 7%

C 8%

D 9%


	8) Leighla and Rebekah will collect data to find out where the seventh-grade students should take their field trip. Which group should they survey to collect the best data? 

 A the first 25 students through the lunch line 

 B ten random people from each seventh-grade class 

 C all the students in a dance class 

 D twenty of their friends
	Answers

7. _______

8. _______


	9) Which choice shows three lengths that cannot be the lengths of the three sides of a triangle?
A 2 cm, 8 cm, 8 cm

B 2 cm, 3 cm, 6 cm

C 4 cm, 5 cm, 7 cm

D 5 cm, 6 cm, 9 cm

	10) Angles T and V are complementary. Angle T has a measure of (2x + 10)°. Angle V has a measure of 48°. What is the value of x?
A 16°

B 19°

C 26°

D 42°

	Answers

9. _______

10. _______




Warm-up Questions
Directions: Answer each daily warm-up question in the space provided. Show all your work!  

	Monday:


	Tuesday:

	Wednesday:


	Thursday:

	Friday:


	Important Information for the week


